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from google.colab import driwve
drive. mount (" fcontent/drive’ )
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seed = seed,
image_size = 1mage_size,
batch_size = batch_size,
) . . .
val_ds 11525 files belonging to 2 classes.
9228 files for training.

. 11525 files belonging to 2 classes.
bt - 2385 files for wvalidation.
seed = seed,
image_slize= 1mage_size,
batch_size = batch_size,

Found 11525 files belonging to 2 classes.
Using 9228 files for training.

Found 11525 files belonging to 2 classe
Using 2385 files for wvalidation.




50 + AlFData augmentationf
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data_augmentation = keras.Sequential(

[

layers.experimental.preprocessing JRandomFlip("horizontal")] KSE&ies

layers.experimental.preprocessing JRandomRotation(8.1)|, iE&0.1EEHI

V)



plt.figure(figsize=(16, 10))
for images, _ in train_ds.take(1):

for i in range(9):
augmented_images = data_augmentation(images)
ax = plt.subplot(3, 3, i + 1)
plt.imshow(augmented_images[@].numpy().astype(“uint8"))
plt.axis("off")




layers.experimental.preprocessingRescaling(1.8
layersConv2D(32, 3, strides=2, padding="same” JJ(x)
layers.BatchNormalization()(x)

layers.Activation("relu”)(x)

layers}Conv2D(64, 3, padding="same” ) x|
layers.BatchNormalization()(x)

layers.Activation("relu”)(x)

ious_block_activation = x # Set aside residual
e in [128, 256, 512, 728]:
layers.Activation("relu”)(x)
layers JGeparableConv2D(size, 3, padding="same" §{x

layers.BatchNormalization()(x)

layers.Activation("relu”)(x)

layers JSeparableConv2D(size, 3, padding="same" J{x)

layers.BatchNormalization()(x)

layers MaxPooling2D(3, strides=2,




save_at_{epoch}.h5")]
model .compile(optimizer=keras imizers. A (12-3), loss="binary_crossentropy”, metrics=["accuracy”])
model.fit(train_ds, epochs=epochs, callbacks=callbacks, validation_data=val_ds)

3172s 17s/= =51 @.6426 gCCuUracy . 5517 val_loss: ©.7123 val_accuracy:

J1e%s 17s/= =51 @, 3445 gCcuracy: B.s858E val_loss: @.7417 val_accuracy:
accuracy: B.8757 val loss: 8,25 val_accuracy:
gCcuracy: 8877 val_loss: @.6227 val_accuracy:
gCcuracy: 8.9942 val_loss: B8.2656 - wal_accuracy:
gccuracy: B.987¢ val loss: 8.23 val_accuracy:
accuracy: B8.9172 val_loss: @.,2772 wval_accuracy:
gCcuracy: B.925¢ val_loss: @,998¢ val_accuracy:
accuracy: 8.93 val_loss: @.1726 - wal_accuracy: 93a2

accuracy: 8.9272 val loss: 8.2283 val_accuracy: 8.9153







predict_image("../input/eyes-test-images/female_1. predict_image("../input/eyes-test-images/male_2.jpg")

This image is 91.68 percent female and 3.32 percent male. This image is 6.39 percent female and 93.61 percent male.
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https://www.kaggle.com/pavelbiz/eyes-rtte
https://keras.io/examples/vision/image_classification_from_scratch/
https://www.tensorflow.org/tutorials/images/classification?hl=zh-tw
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